EE 475 Fall 2009 Quiz #16
Name:





1. When the open-loop gain cross-over frequency is increased significantly, the closed-loop bandwidth will 




.
2. If we want to reduce rise time t_r and peak time t_p, what should we do to the open loop gain cross over frequency?



.
3. If a system’s closed-loop resonance peak Mr is reduced, what would happen to its closed-loop step response over shoot Mp?



.
4. If a system’s open loop phase margin PM is increased, what would happen to its closed-loop resonance peak Mr?




.
5. If a system’s open loop phase margin PM is increased, what would happen to its closed-loop step response over shoot Mp?




.
6. If a system’s open-loop gain cross-over frequency is increased, what would happen to its closed-loop bandwidth?





.

7. If a system’s open-loop gain cross-over frequency is increased, what would happen to its closed-loop resonance frequency?





.

8. For a system with open-loop phase margin in the 50 to 70 degree range, what is the approximate relatioship among open-loop gain cross-over frequency, closed-loop bandwidth, and closed-loop dominant pole magnitude |p_d| = |_n|?
















.
9. For a system with open-loop phase margin in the 40 to 70 degree range, what is the approximate relatioship between open-loop phase margin and closed-loop dominant pole’s damping ratio ?








.

10. How is damping ratio related to closed-loop resonance peak?















.

